s

Moog Inc,
BULLETIN 173 INDUSTRIAL DIVISION
East Aurora, New York

INSTALLATION INFORMATION FOR 73 SERIES
INDUSTRIAL SERVOVALVE

HYDRAULIC SYSTEM PREPARATION:

To prolong servovalve life and to rednce hydraulic system maintenance,
successful industrial users have installed a 5 or 10 micron large capacity
filter a few inches upstream of each servovalve, Their practice has been

to operate a new hydraulic system for a period with a flushing block at the
servovalve location before the servovalve is installed, The period of flush-
ing prior to servovalve installation varies considerably with the complexity
and condition of the system., The usual period is at least four hours. The
flushing is done under conditions of temperature, flow rates, etc., which
reasonably simulate operating conditions. New system filter elements are
installed during the flushing process whenever the pressure drop across the
filter indicates that the element (s) need changing. When a filter will operate
for a period of two hours with no perceptible increase in pressure drop, most
of the harmful system contamination has been removed. To maintain a clean
system, filters must be replaced whenever the pressure drop indicates a need
for changing. Users also frequently install an oversize capacity 5 or 10 micron
filter in the return line or in a line that provides constant full capacity flow.
This increases the filter element replacement interval and greatly reduces the
gystem contamination level,

REPLACEABLE FILTER (PN 071-22050)

The MOOG Industrial Servovalve is equipped with a gintered stainless steel
field-replaceable filter. These may be obtained from MOOG, and it is
recommended that a spare filter be maintained ready for use,

Filter elements supplied by MOOG are ready for immediate installation., In
replacing the filter element, care should be exercised to prevent dirt from
falling into the valve body or into the drilled passages in the filter plug.

The Filter may be replaced as follows:

1. Depressurize the supply and return lines to the valve.

Remove the four #1/4-28 socket head cap sqrews from the round

cap on the end of the valve.

Remove the founded cap,

4. Remove the filter element from the valve by grasping it and pulling
directly outward, being careful not to let any contaminate drop into
the filter cavity,

(83 ]




5. Inspect the new filter cartridge to determine that the ''¢' ring
is in place,

t. Install the new {filter over the filter post located in the bottom

of the filter cavity,

Replace the rounded cap; replace and tighten the four #1/4-28

socket head cap screws,

-~}

INSTALLATION:

The Industrial Servovalve may be mounted in any position. The mounting
holes will accommodate 5/16-18 x 5/8 long minimum, socket head cap
screws. The mounting pattern in the valve is shown by Installation Drawing
No. 001-24735. With a light oil film on the socket head cap screw, the
screws should be tightened to a torque of 96 in. -lbs,

The first time after installing a valve, pressure should be applied to the
system slowly to allow oii to fill the filter cavities gradually.

TO PROVIDE EXTERNAL SUPPLY TO PILOT STATE:

LRI

A sel screw and "o ring sealed plug are removed from the base of the
valve and installed in the filter cavity. This operation blocks the passage-
way between the main pressure port and the pilot-stage within the valve
and creates a passage directly between the pilot-stage filter cavity and the
auxiliary fifth-port on the base of the valve., This may be accomplished as

follows:

1. Remove the #1/4-28 set screw from the base of the valve.

2. Remove the plug behind this screw by utilizing the #2-56 threaded
hole in the plug.

3. Remove the filter as outlined above, making sure that it does not
become contaminated,

4, Insert the plug, making sure the ''o" ring does not become damaged,
in the recess provided in the pilot filter cavity.

5. Install and tighten the #1/4-28 set screw behind this plug.

6. Replace the filter and the rounded cap.




MECHANICAL NULL ADJUSTMENT
MOOG 72 and 73 SERJES SERVOVALVES

It is often desirable to adjust the flow null of a servovalve independent of

other system parameters. The "Mechanical Null-Adjustment' on the Moog

72 & 73 Series Servovalves allow a + 20% adjustment of flow null.

The "Mechanical Null Adjustor" is an ecceétric bushing retainer pin, located
above the "RETURN" port designation on the valve body, which when rotated
provides control of the bushing position. Mechanical feedback elements position
the spool relative to the valve body for a given input signal. Therefore, a
movement of the bushing relative to the body changes the flow null.

\L@:ﬁ//@

/

—
/E RN SCREWDRINE®
A 1
rd
) 7
N R BUSHIMNG MOVERENT

il

a-BiINMG

\ADJUS/"'O/?

ADJUSTMENT PROCEDURE:

I. Loosen #6 - 32 locking set screw (1/16 hex socket) to allow bushing pin
to rotate but not be backed out by pressure.

2. With a screw driver, rotate mechanical null adjustor pin to obtain desired
flow null,

NOTE: Clockwise rotation of the pin produces an open loop flow from port #2
to port #1.

3. After the desired flow null has been obtained, lock null adjustor by torqueing
#6 ~ 32 set screw to 7 in. lbs, .

NOTE: The set screw must bottom on the 45° charmnfer on the back of the null
adjustor pin to assure that pin is securely locked,

INDUSTRIAL DIVISION
MCOG INC,
EAST AUROCRA, NEW YORK




= WM STINTS E7 W6 W 1, FrR WS THOMMY | SNOLIVOLIOSSS THAE W
SELEI-100(2 | 976 b e
N e | oM 1aaa D00
- pvere 20 1os 0 0 g N AN NGILg) S
M\MJW\W@%&M@ 7 | Me— Hawds xyon 3 HLIZ TENVLRO Gl 2 180d LN0 Mora LLenody Fn- ol
’ bl S i v [awoeey | SRR wr IO WML
NOLLV TIVICNI R AT aonary o | FF VI TOLIINNGD ONVEVD HOLOW v CING FSvE 36 TS TN |
T — TSI Pl v fiaFsin Aoiinndid AN HONTH A0 390 000 el HONVETE Kol TTOHLR SOl ane o |
W .39@.28@&.5%%000: =%, EEENFERI NS i L L W LG Ay NOa SN O 28
TR Vi ANVYLS et WNY Thaa H.0ve A bl
Hiin CEIVW OO anNNGD Tvait 159599 of
ﬁv via 227 L 100 NIRLM Ly
| /. SN SN 2T STHIMETY TIINFER ST IAT. Hoitm O 35vaafie o
- mn el e B ode] LO NI v ies L&y ESh
AYNSFLOE O NG S LN I IHLT B0 SNOISIACTD HLIM meaawm %.q SANTIA
W SIIVWERSE — < OO 00 > QI ZIe” AT TVNINON SIS =2 L0 SHAd 1T ST
o oa v b o (G T o0 o S ge Sl POy v IR YTy
A o = WA - SEN Y -
W(CLL g {\L 390 GGO ™ OO 29T > JIGr% I T MNINCIN VIAZIE 23 1Ed citiog
el - TN SEN S TERNTIA -, CINY TSN D R LA TN O o e INd-HSTad

TEONIAL G TENE Y THIHIEE0L AT USIRNGT AN H I NOUYIAAALO S 898 &

INFAHAAT LT

53y TV 2 L8304 "H0 IN0 AMO1d (ONISTHA SATwA
de Sl Ol 4o 55 TR

4l ONLIYHIID

ML, STV A T T8 wd TS 10919 Sa 4T aviE Lsndnd

A
HO YOUTE-H-THR QN E 2

CMATIDG dvD OVEH ITH50E ENON 941~ Q1 - B oimTs NILNTOW JT18H5 !
S a1ON
OGOZ2-1LC TN DO
Al id Fovie Tonid
P L E s AR ] | g LTS NOIEG
) Hﬂmwmzmummﬁu@w s/
| iy e s . _
L8 T adne G aad
I AT _x@sz/ ,
“F =Y \@
o | ﬁﬂi T ﬂm }-
g6 ! il 0
L “Tos Oy -
| MH S ,//W“w\
i OO 51 7 # i
oL :
, P D
” h DA
I ; 7 | H :
it DY b 4 / ? - 6T
: / ! i :
— e e / \\ e R U I
/ | : i \ .
s GG meend 2 G NG 1 / s ANl GLE
¥ / | bocrsr o
7
TE R | F T OF FIE NG R N A TR TS yd mawcnw,mh_ ot
el ta SNOISIAIY e sty @

E ]



